


F-9
9.223m*3.342m*2.6m
1 =M 1z
om ) HE BeH AR
3 W] X0t A%
S 4. BEAHINL 278X
| |
o ) 1 HEEA =3 L WA £y
e ) o Mol cryoje Ax| -
3 SELIA U STAEA HA o
4 2E X7 o =R A~
5. HAS24X|:13m*2.5m
6. SH| 3| HSD crEf K ol [5]8 8
| g6 o
13.755m*7.966m*2.5|PJ 333 '

%2 TE ! DA
g a-g ) Y
2t o)Al 1.5m 8.6m*13.9m*2.6m 8.7m*13.9m*2.6m
(Xl 202%)
— 1 sgEAes was e Il mEEes) @ e ey
13m*2.5m .// crs 2. EtdobE S EHEOEAX]| 2. EbdOrE 9 EHEOEAX]
== -]3. 80| #A Y o|& 3. EHo|¥ HEA L oIF
s | | 4. =™ 2 HE EA 4, =M™ U HE HA
o 13m*2.5m 5. HZ24X| :13m*2.5m 5. HZ24X :13m*2.5m

13755m8.262m:25m_| 35% 6. 2EAVN L2 14K 6. 2N Y2 1A
1 AEEA (=F) U HHEY
2. EbgOrE 9 EHYHE X A2
3. EEHEA 2| YU LE 1MEX
4. THYORES chYOE dX]| N

- x| 203%) 13m*2.5m |I 374
5. HE84X :13m*2.5m -




35(U=4H))

o]
Klo

< Hy >

=20 A

R ES

1
2
3.
4

T
Ok
oo

—t

70

2K

X
X

T bl

& o op oH

= oo — o0l

0 = KT

- — 10 i 70
= T e W

Mo R Koy & Ky

o Rz 7 ) STl

o= _.|=__L._ I _.Oo

oo Ml £ gy

G U EH ~ EEOH

SO opMmET SXoFm™

o =T NEIlo o

Moo oo XU N

<t = O 0k Or ®U 0 of KO I OR &I

10f 010 &) = 0 2 ohi <| 7T %2 I %o Ok
QA T~ —~

*2.55m

8.24*14.3m




I > A
HH a1 4= |
< B > Sad 45(H=sM
HE24XK|
71HEA
(1]
=5-419  #
=418
3 E=E
(OHEZ| &)
'
=417 W 1. BEMAHALE) L EY =M
2. EtEOrE S EHEOjE HX|
=416 & 3. ﬁ%gxﬂj
12.7m*8.5m*2.7m 4. 2274 HA
415 5
HA L 7tEAXK
=14
1. MEMAESE) X 2 =AM
= 2. EbMOME Gl EFMOIE MY
il yemeMe 5%
= 4. 784X
=-412-1 c —E—fﬁ 5]
15.6m*8.5m*2.7m
=-412
[
alEo2 AFE SR A
DN UP




= IHE 5 *

et (
EER

of%
B
¥
nx
o

11.56m*3.2m*2.5m 14.2m*3.2m*2.5m

UEJHYUHE HREY \ |

508

304 503

T

N
on
HO
1B
|0

2 712 x4




ZHE X|BHAZAH])

! Kj &

= o Ll

o o
Bl JELT B
BE N &

=
©
o
*
S
~N .
-
=
X
=
53]
A

15.8m*12m*2.6m

iy 1
<




Na

2 (74 5 Ad
ZAHIMME 4= (d=4H|)
14m*7.5m*2.7m Na
1. 7t MK dn
o:l xl'ﬁl'xol'% 2. AO|E £EI0|ER MK
401 402
A 2|3 AZ 2|3
Zto|y R
ol 2| | O] E4
=
N\ 110D (] \U
L/ Jl UV J [V NUB D%
L} - II-MC 406 405 404 403
=F Xp2 54l T SR SR Qs
71U AS aaA Zto|l #7HA

dn




=3t 25 (Hx4dH))

16.9m*7.5m*3.036m

uhAwn =

o

7ty dX[otof Zojd 22
ZtHof OJ=O|E X[ (FFX|=H|O|
= 0|5 &0I)

HIZErY 2%

Ll
b JiE

Ll

I




01210 03211
%}E'g ‘QEH‘:'{%Q)

7.82m*2.67m




